Bildung Ratsausschisse (7er/9er-Ausschisse

Beispiel 1

- Verteilung der Sitze gem.

71 NKomVG

Schritt 1
(8 71 Abs. 2 Satz 3 NKomVG)

Schritt 2

(8 71 Abs. 2 Satz 4 NKomVG)

7er Ausschuss

9er Ausschuss

7er Ausschuss

9er Ausschuss

7er Ausschuss

9er Ausschuss

Gruppe: SPD/G/WGS

+0 + 1
19x 7 :30 = 4,43 5,7 4 5 =4 =6
19x9:30 =
CDU

+ 1 +0
11 x7 :30 = 2,56 3,3 2 3 =3 =3
11 x9:30 =
Summe 7 9
Beispiel 2

Schritt 1
(8 71 Abs. 2 Satz 3 NKomVG)

Schritt 2

(8 71 Abs. 2 Satz 4 NKomVG)

7er Ausschuss

9er Ausschuss

7er Ausschuss

9er Ausschuss

7er Ausschuss

9er Ausschuss

Gruppe: SPD/G

+ 1
17 x7 :30 = 3,96 5,1 3 5 =4 =5
17x9:30 =
ChuU

+ 1 + 0
11 x7:30= 2,56 3,3 2 3 = =3
11 x9:30=
WGS

+ 1

2x7:30= 0,46 0,6 0 0 0 =1
2x9:30=
Summe 7 9









